Test Booklet No.

20T ga8<¢ 8.

This booklet contains 48 pages.

fon gade &g 48 US T51

Test Booklet

PAPER - 4

Test Booklet/ 20T Had<

Series

20¢ gade i1da

Do not open this Test Booklet until you are asked to do so.
7 3= 394 faor adt Aer, @€ Ja fen qne e HaBe § & H|
Read the instructions on the back cover of this booklet carefully.

fon gade @ fued Ieg €3 &M ardw gerfest § fimrs 575 U3

DD

Aliowed Time: 120 Minutes

YT'a3 0H* 120 fife

Maximum Marks: 100

Tg I g nid: 100

1.

The OMR Answer Sheet is inside this Test Booklet. Once
directed, You have to open the top seal of Test Booklet, take
out the Answer Sheet and fill in the particulars carefully with
black ball point pen only.

1. Ehmrg §39-Hic for 2He Sade © wieg J| gurfes Je 3, 2ne

gade o QuIE Az 898, €33 de w3 fige I8 =%
ynrfie O 8 JWfenr § s &8 331

2. Duration of test is of 120 minutes and question paper consists | 2, foq ifemr e 120 fite 3 w3 YHs U39 f&g 100 wisRafee
f 100 objective t tions. h ti ies 1 k . 3 o :
0 objective type ques.lons Eacl .ques ion 'carnes mar 5 3 T3 1 o Rt 699 1 o3 fo feg @
for correct answer. There is no negative marking. { . _:[ -
‘ dtfes vwrafdar adt 31
3. Use Black Ball Point Pen only. . )
. 3T I8 g8 ynwrfee T's & =93 J31

4. Make sure that the Tfest Booklet Serifas Co#e entered by you | 4 st 596 fy €39 Hie €3 T3 TvrTr Tow diFr famw Dy
on the‘Answer Sheet is same as @entloned in Test I?ooklfet. - e i

5. Rough work should be done only in the space provided in the 5. dor i f 3 tie g gt map T & e e 3
Test Booklet. 3 -

|

6. The answers are to be marked on the OMR. Answer Sheet 6. §59 figg Ghimrg 839 Hie 3 It oz &3 72 Ta| W
only. Mark your responses carefully. No whitener/ eraser / ; . y
blade is allowed for changing answers. g59 firs & 953 991 €39 =esr B¢ o &

‘ / 997 / =583 S wifamr st

7. After opening the Test Booklet, you need to ensure that there W i = i B
is no presence of any misprint in question paper, torn pages or | 7- 2re gade UgE 3 =, faaur a9 393 feg welldt wE e X
blank pages in the Test Booklet. In case, such discrepancy is Y U39 oo A & a3 Bure, g8 I8 U A Ut U & JE
found in test booklet, you need to bring it to the notice of the 93, 2Ac Hade o fal & 397 & A8 wHIS I3 fem §
Invigilator and get it replaced by another Test booklet of same 3 & frG w3 ford R Hide & 2re dode o5 53|
series. = == ' =

8. For any question, if there is any discrepancy found between
Punjabi & English version of question then English version of | 8. R & s feg, Aag Urrst #F wRISH I f&g Jgt wisg I 3
the question shall be considered as final. ; GF e @ wIISH QUTST & niEH Hinr T

9. Details of Sections in Question Paper: L )

o 9. YHs U3d &9 31 & <9
: : .0 :

Section | Subjects Gmestions I | feR ey @ farsst
Section-1 | General Awareness 35 gar-1 | 7oIS WRWIEH (MH GICISEEY) 35
Section-2 | Quantitative Aptitude and Numerical Skills 20 T2 | H3TSHE BErET w3 BEEIHE gad 20
Sect!on-3 Mental Ablh?y and L?gl?al Re:fsonmg 20 — e ST v3 399 ST 20
Section-4 | Language Skills (Punjabi/ English) 20 8 y
Section-5 | Digital Literacy and Awareness 05 gar-4 | THE S g&T (UrEl/ niEeH) 20

' -5 |f3Hies AHg3T w3 AdgasT 05
| Name of the candidate (In Capitals)
ireea & & (Fraaah i&9)
Roll Number / 3% &99 In figures(wafamim f23)
Name of Test Center / Q1< 02 © &H In words(HEe f39)

Signature of the Candidate within box / ST/aH € wieg @Hieed € IJA3™SI

Signature of the Invigilator within box/ STaH © ned f&d97s € TASHI

i

Note: English Language will

revail if there is any discrepanc

kmmmwmma@ammwa?mmwmwml







SECTION -1 : General Awareness I - 1 : AGIS WRWISH (MH AFIG3")
Q1 Which of the following disease is Q1 fogt &9 fagdt faudt €8 € ads

caused by fungi? Jer 7

(A) Ring Worm ‘ (A) ©<

(B) Cholera (B) I

(C)  Tuberculosis (c) 3ufex
(D) Covid-19 (D) afes-19

Q2 In Laws of reflection of light, the Q2 g ¥ ud=Iss T foud f5,

angle of incidence is equal : sl IE 2 5959 Jer Il
. (A) to the angle of incident ray (A) WUt fags e ds
(B) to the angle of plane (B) 3IBTAT
(C)  to the angle of reflection (C) uJ=I3sedE
(D) to the angle of refractior'l (D) "MURIISBIAT
Q3 . Waste that decays naturally andina Q3 €9 df;jg_zjdg A gegst 39 3
way that is not harmful to the feufes I<t I w3 fon 391d &8 €9
environment is called : T3ege TE FAIEERS Sd I,
(A) green waste fon g St fagr A 7
(B) recycled waste ' (A) ds0<
. (C) blue waste (B) dJineaszg <0<
(D)  soil waste (c) =fsg=ne
(D) Ofes <

Q4 Who found the literary .club, Q4 0fg3 a8 WaHS-8-Ure S 0FYST

Anjuman-i-Punjab? faod St3t?
" (A) Dr Gottlieb Wilhelm Leitner (A) T Sefes fesa foead
(B)  Raja Harbans Singh (B) g IosD iy
(C)  Rai Mul Singh (c) TEusfiw
(D)  Gurmukh Singh : (D) I iy

—_— e W  w
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Q5

Q6

Q7

The Chairpersons of the Panchayat
at intermediate and district level are:
(A)
(B) elected by

directly elected by people

the panchayat
members '

(C) elected by the legislative
assembly of the State

(D)

nominated by the Governor

A is a court’s 'order

commanding an inferior court or

public authority to perform an

official duty correctly.

(A)  Writ of Mandamus

(B)  Writ of Quo-Warranto

(C)  Writ of Habeas Corpus

(D)  Writ of Prohibition

Which of the following fundamental

rights is NOT included in Article 19

of the Constitution of India?

(A) Right to freedom of speech

and expression

(B) Right to form associations or
unions

(C) Right to practice any

profession, occupation, trade

or business

(D) Right to freedom of thought,

belief and religion
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Q5

Q6

Q7

Hoegst w3 fagr dog '3 Jofes ©
INIUIN S |

(A) fiD Baf e ge AT I8
(B) Uofes Hegt ©wagr gE A

IS

(C) I feus 03 ewgr ge Ae
IS

(D) ITUE VI STHAEE di3 Ae
IS

_ WE®3 © gaH ger I o

JegmmmeEs3 7 ysiB wEfgdt §

03t 391 &8 wifgarg3 38t s96 ©

wren fider I

(A) 3o <t fae

(B) faG-zde<tfae

(C) IJgwo JIun < fae

(D) HeI & fae

II3t 0feus © »iges 19 &9 AHS

& I&?

(A) IS8T W3 Ydie™ T 033937 T
wigarg

(B) WOfigHs 7 Gomis gege ©
witerg

(c) fad dA, &3, ug AF FIgI
II& T wfaag

(D) feog, feAen w3 TaH <
WS e Wigdg
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Q8

Q9

Q10

Q11

Punjab is bordered by which (8

country?
(A) Afghanistan
(B) China

(C) Pakistan
(D) Tajikistan

According to 2011 census, what is Q9
the population growth percentage of
Punjab?

(A) 13.89%

(B) 15.14%

(C©) 19.76%

(D) 23.87%

Which of the following countries Q10
has the most Sikh population?

(A) Canada

(B) Malaysia

(C) Cyprus

(D)  Saudi Arabia

Who among the following certifies Q11

whether a bill is a money bill or not?
(A) The Speaker

(B)  The President of India

(C)  The Prime minister of India

(D)  The Vice-president of India
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€

Ay ©f 0h {90 2F &8 St 97

(A)  WeSIMeo3®

(B) d©&

(C) yfan3s

(D) 3IATI03IS

0% 2011 ©F HISHHEHII © Wal'g,
Urrg & weret @0 ©F YStEs3T Hat
J?

(A) 13.89%
(B) 15.14%
(C) 19.76%
(D) 23.87%

foest &9 fap 2n e iy et 09 3
frmrer J?

(A) 3BT

(B)  HBHMT

(c) orfeugo

(D) O'E<I wa"

foest &9 fap envrar Yurfes a3 Al
J f3 3 58 us g I A &5I1?

(A) OUtEg

(B) I'I3 T IJHSIUIT
(C) I3 T YOS H3IT
(D) I3 T QU-IHSIUI
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Q12 A Joint Military Exercise named Q12
“Yudh Abhyas 2021” was held

between India and
(A) Russia
(B)  Israel
(C) Australia
(D) USA
Q13 Punjab means aland of . Q13
(A) 10rivers
(B)  6rivers
(C)  Srivers
(D)  8rivers

Q14  Which two crops are the maximum (14

cultivated crops in Punjab?
(A)  Wheat-Rice

(B) Bazra-Maize

(C) Rice-Maize

(D) Rice-Bazra

Q15 Who along with Batukeshwar Dutt Q15

threw bomb in central assembly?
(A) Rajguru
(B) Bhagat Singh
" (C) Sukhdev
(D) Lala Rajpat Rai

gIz w3 fegg9 g ot
O wfgwo  “gfg wfswm 2021
W3 3T famr o)

(A) @O

() feogfes

(C) wmTIshr

(D) wwoe
dagerwgg S ogdtJl

(A) 10 Sfgwret

(B) 6 Tfowrer

(c) 5 efower

(D) 8 Tfgnret

Uy &g fagdwoe 2ost & 09 3
<g 93t St A I7

(A) JES-8aT

(B) HHI-Hd
(C) & Mt

(D) B&-FHI

Ocgs Wigsl @9 Scaned €3 ©
&% fq0 s g9 gfewr?

(A) I

=

(B8) 3913 fiw
(C) Oue="

(D) T IHAYI I
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Q16 The layer acts as an Q16 U3z i wifdy 2% @

invisible shield and protects us from s It I W3 076 0FH 3 W IIMT
harmful ultraviolet (UV) radiation TS yI_dret fagst  (Uv) 3
from the sun. gggel J|
(A) nitrogen (A)  TEHS
B) argon | (B) WIS
(C) ozone (c) 6Gus
(D)  methane (D) EG
Q17 Under which of the following Q17 J& f&f3wm f&g 393t 0fegs © fau
articles of the Constitution of India WoeT 3fI3 [UIH e IS FTIId
does the Supreme court have the e Higs witarg' § 891 96 B i
power to issue a writ for the fde 7t ags T wiftarg J7?
enforcement of fundamental rights (A) WEEE 13
of a citizen?
. (B) WgseT 14
(A) Article 13
© (B) Article 14 (C) igeE 21
(C) Article 21 (D) y;ré-gg 32

(D) Article 32
Q18 Which of the following articles of Q18 3393t 'feTs v I 3w fagzT

the Constitution of India directs weee IH § IH dofest § aifss
' states to  ‘organize village a36 w3 GIa § At 8¢ T faIgen

panchayats and endow them with féer J7

power’? (A)  WoRE 32

(A) Article 32

(B) Article 36 (B) "IEEEI5
| (©)  Article 38 (C) wgaE3s

(D)  Article 40 ©) WedEm

PAPER-4 SERIES-DD [7]
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Q19  Which Sikh Guru introduced Anand Q19
Karaj - which was a special kind of

marriage ceremony?

(A)  Guru Angad
(B)  Guru Amar Das
(C)  Guru Hargobind
(D)  Guru Har Krishan
Q20" The most essential operation for (20
making the soil loose and porous to
a desired depth as per requirement
of the crop is
(A) Clod crushing
" (B) Ploughing
(C) Harrowing
(D) Manure mixing
Q21 is the birthplace of Q21
Khalsa, a way of identifying or
‘ differentiating the Sikhs.
(A) Takht Sri Damdama Sahib
(B) Fatehgarh Sahib
(C)  Dukh Nivaran Sahib
. (D) Takht Keshgarh Sahib
Q22 Which festival of Punjab is Q22
celebrated with a special bonfire?
(A) Lohri
(B) Teeyan
« (C) Chappar Mela
(D)  Guruparab

fan iy gg & wde 9w Bg 13- 7 ‘

for it fers Yarg < fenrg <t goH 01
(A) I wiare At

(B) H g wHIeD At

() wtIgIfsdifde 7t

(D) T Ig IfIfepHe At

20T T 7g93 wign9 WA § B
Fud 3 & W3 HIHE'd STTEE
BE 03 3G A J

(A) 38 fHOE" (Clod crushing)

(B) I&TIBEE (Ploughing)

(C) 3ISMMEIS (Harrowing)

(D) TF we fiwGe (Manure
mixing)

iyt & ufgee A udl ufgoe,

50 B AGH ZH I

(A) SHIH eHeH 0Tfo"

(B) efz9gorfos

(c) Tufsegsotdad

(D) 3IH3JnIF0fo"

iy © fqggr 3899 v gdg ©F

Il S8 & HTfowT AT 2

(A)  BIF

(B) 3w

(C) BUIT HT

(D) JIYSH

-~

;
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Q23 Konark Sun temple is situated in (23 Jegg pIA Hed ffgofas I

(A)
(B)
©
(D)

Q24 Pattachitra art form is nati%ze to Q24

which of the following states?

(A)
(B)
(©)
D)

Q25 Sand dunes are found in which part Q25

Madhya Pradesh
Rajasthan
Arunachal Pradesh
Odisha

Odisha

Assam

Uttar Pradesh
Andhra Pradesh

of Punjab?

(A) South East
‘ (B) North West

(C) North East

(D)  South West

Q26 World’s largest solar tree has been (26

installed in which state of India?

(A)
(B)
(©)
(D)

Uttarakhand
Assam
West Bengal

Rajasthan

(A)
(B)
(C)
(D)

WO y=H
JHIES
WIS YTH
EEiy

yefdze a& & ¥8 I ffammfed
forgaT = I?

(A)
(B)
(C)
(D)

&3t
W™
e e

g © fapo 0 R 33 © feg ue
e I67?

(A)
(B)
(C)

(D)

THE YyIy
€39 UeH
8339 yg=

THE UgH

gShr T 03 3 I 089 & (solar
tree) 793 © fan gH o ngU3 &3
famr 372

(A)
(B)
(C)
(D)

€393
O™
Yt Sars

JHOIES

————————————————————————
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Q27 Where is Partition Museum located Q27 ugdms fHdmwn Ume o fag

in Punjab? ‘ 0fg3 37
(A) Ludhiana (A)  Bftmrer
(B) Patiala (B)  ufewrsr
(C) Chandigarh (c) dTIF
(D)  Amritsar | (D) ifi303
Q28 Which Punjabi Singer sang the Q28 wmgg M3 ‘A I § fogr T fau

popular song "Jai ho"? U‘H:Ei’r Jrfes & a’rrféhr:?
(A)  Sukhwinder Singh , (A) Dufeeg fiw

_ (B) Arijit Singh (B) wifgri3 fil'y
(C)  Gurdas Maan (C) dJ9¥0 H'&S
(D)  Sardool Sikander (D) 03Jes fdeg

Q29 Which  scheme by  Punjab Q29 UAg ngag € fqg3t 0dH Sgmdrd

* government will provide the jobless fonaIMmS 0= grdrd © BEl 3 7 4
individuals to get subsidy on U @get € bdie Jd96 3 0"t
purchase of 3/4 wheeler vehicles for féet J?
self employment?

(A)  WI WI IrEra 0aH
(A)  Ghar Ghar Rozgar Scheme
" (B) Apni Gaddi Apna Rozgar (B)  WnUEt IiFt wrysT 3marg natH
Scheme

(c) Umy die fifenead nasafay

(C) Punjab Chief  Minister
0aH

Scholarship Scheme

(D) Mera Kam Mera Abhiman (D) AT H AT WfgHs D&t
Scheme

PAPER-4 SERIES-DD [10]



Q30  Which Punjabi folk dance, similar to Q30 g3t eI Ji3T JE T FIF

the more eminent Bhangra, is UAeh 3 a9, §g3 HAYD 3913 ©
performed by women? | OHS J?
(A)  Jhumar (A)  ®H3
(B) Gidda (B) foror
(C) Jaago (c) vt
(D)  Luddi | (D) B
Q31 Which among the following Q31 J& fEfawfed fagdt fawm3 1947 €
| princely states is not a part of India <3 3 gmiE 993 T fJ0T &t 97
after partition in 19477 (A)  ufewrzr
(A) Patiala (8) TS
(B) Kapurthala
(C) Faridkot GRS S
(D) Bahawalpur (D) SIT=BYT
Q32 The Upper House i.e. Legislative Q32 1 Aa=dt ¢ Gudl 0%
Council of Punjab was abolished on waE3 UAg feurs ufgre § ¥3H a9
1st January o &3 famir 07|
. (A) 1947 (A) 1947
(B) 1952 (B) 1952
(C) 1961 (C) 1961
(D) 1970 (D) 1970
Q33 Where is the Annual thrée-day Q33 Uny €9 1@ f3s I Adie A7
. Shaheedi Jor Mela held in Punjab? o I8 WAz &3 Aer J7
(A) Gurudwara Hari Mandir (A)  FJIewT afaves ofos

Sahib
(B)  Gurdwara Fatehgarh Sahib
(C)  Gurudwara Baba Atal Sahib
* (D) Gurudwara Sehra Sahib (D) IIewT fugar ofae

(B) J9enwd <399y 0fod

(C) JTewa g WIS 0fa"

#
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Q34 Human heart has how many Q34 W& fes ST fds ud Je 6?2

chamber/s?
(A) 3
B) 2
©) 1
D) 4

Q35 The Chief Election Commissioner Q35

of India can be removed from office

only through the impeachment by

(A)
(B)
(©)
(D)

Parliament
President
Prime Minister

Supreme Court

SECTION -2 : Quantitative Aptitude and

Q36 A student multiplied a number by Q36

Numerical Skills

5/11 instead of 11/5. What is the

approximate percentage error in the

calculation made?

(A)
(B)
(©)

(D)

A

51%

42%

79.34%

71.5%

(A)

(B)

(C)

(D)

L

g93 T Y4 TYE dimed &

_ OWT HIeH more It uesr 3
Jerfemr 7 0aer J

(A) OD€

(B) TIHcIUI

(C) yure H3dl

(D) QUM ITe

FGT-2: HIIIHS Wa3" w3

At 3Ha 969
fig fefenradt & s ofemr § 1/5 <t
g9 5/11 &% Je a3 St It
J?
(A) 51%
(B) L2%
(C) 79.3u%
(D) 71.5%

ﬁ
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Q37

Q38

Q39

A is 100% more efficient than B. If Q37

B can complete a work in 12 days
working alone, then find the number
of days in which A and B can
together finish the work.

(A) 3 days

(B) 6 days

(C) 4/7 days

(D) 4 days

One year ago, a mother was six (38
times as old as her daughter.

Presently, the age of the mother is
numerically equal to the square of
the age of her daughter. Find the

daughter's present age (in years).

A 5
B) 4
(C) 25
(D) 16

In a group of shepherds and their (39
sheep, the total number of heads are
35 and that of legs are 120. The total

number of sheep are:

(A) 25
(B) 10
(C) 20
(D) 30

PAPER-4 SERIES-DD

A, B 3 100% <03 9% J1 A B &
M sgfenad o1 & 12 fes' e yar
9 03T J, 3t 8% fea' < st uzr
I3 fAn Re Aw3 B @ i § ua
ECRIEEIS]

(A) 3fes
(B) 6fea
() wuw/7fes
(D) ufes

fia 0 ufgst, fig HF & GHg wuet
U3t €t @9 &8 & Jre 011 foo oA,
H S @Hg Oftmm3ve 39 '3 GoS
U3dt € @1 © <991 © =5I5d Il

U3t € T93HG BHT (08 f&9) uzr
31

(A) 5

(B) L

(C) 25

(D) 16

IFSNTNS Gt SmIF T 09T
f&g, g™ & g5 Ofipr 35 I w3 &3t
o 48 Ofemir 120 J1 337 S IS Ofemrr
faat 37

(A) 25
(B) 10
(C) 20
(D) 30



Q40 Each side of a polygon is 2.9 cm in Q40 Sg3d ©F I I ©F BIE 2.9 cm

length and its perimeter is 17.4 cm. w3 feoer ufguy 17.4 cm I SISH
How many sides does the polygon e sMBA= 67
have? (A) L
(A) 4 (B) 6
®B) o (c) 7
< 7
D) 8 (D) 8

Q41 The given bar graph shows the data Q41 37 famr 79 J[e UH 24-3 I
of the expenses by three different e 03 &g 35 29-29 ufgea™ A, B
families A, B and C over five W3 C NI 3 HIfowmer wag
different weekends. TInger J|

#Family-A uFamily-B = Family-C

=3
3 #Family-A #Family-B «Family-C

P
{//g

=3
S
-

WEEKEND1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKEND 5

What is the difference between the WEKEND1 WEEKEND 2 WEEKEND 3 WEEKEND 4 WEEKEND 5

expense of family C in the "l 38 23 © ni3 f§g ufgeg c © uado
weekend and family B in 1 WI YT Je3 ez o ufgea B ©
_ weekend? yIg &g St wizg I?
(A) 450 (A)  L50
(B) 250 (B) 250
(C) 200 ©) 200
(D) 100
(D) 100

e e ey
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of the expenses by three different
families A, B and C over five

different weekends.

#Family-A uFamily-B = Family-C

o
3

i

WEEKEND1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKEND 5

In which of the following weekends
was the percentage of rise/fall in
expensed amount from the previous
weekends the maximum for family

B?

(A) 3" weekend

. (B) 2™ weekend

(C) 4™ weekend

(D)  1* weekend

PAPER-4 SERIES-DD

Q42 The given bar graph shows the data Q42 fE3 famr I9 J[e UH <4-39 Tz

e 03 RT 38 e9-?9 ufgeg™ A, B
W3 C ©T a3 yIfowne g
TanEe I

#Family-A #Family-B =« Family-C

<
v
-

WEEKEND1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKEND S

forafsfaz g faaz Je3 € vz <o
yfged B BE Hdg diSt 9dH €9
Th/we & YESas3s fusd gefzmme
w3 & wfte3H 017

(A) IRAIIITHI

(B) TAISITWI

(C) TEISITWI

(D) ufg® ge3 T W3




Q43 Shyam studies 3§ hours daily, out Q43

Q44

Q45

of which he spends 1-; hour on

studying Mathematics. How much
time does he spend on studying

other subjects?

7

A 1 o hours
3

B) 2 5 hours
1

< 1 = hours

(D) 2 % hours

The average score of Shivani in 5
subjects is 53. Later on, it was found
that scores in one subject were read
as 41 instead of 51. Find the correct

average score of Shivani.

(A) 53
(B) 63
(C) 55
(D) 51

The sum of the digits of a two-digit
number is 8. The difference between
the original number and the number
obtained by reversing the digits is

18. The greater number is:

(A) 26
(B) 62
) 71
(D) 53

Q44

Q45

A I 3~ W g a9er 3, fr
fed g aIfes ugE '3 1 wer sarger
J1 89 I fefimr § uge ‘3 flor 0
Barger 7

T iw
(A) 1L

(B) zliouié

(€) 1-ue

(D) 22w

5 fefimmfée faeat @ win3 wix 53
&1 'mE 39, fog 2ue & fufgnr fa
fa0 g fer <9 383t &8 51 § 41
yg fonr famm firedt @ odt WMo 3 wix
& &7

(A) 53
(B) 63
(C) 55
(D) 51

e widl Oftmr @ wigt T 77 8 I UB
Ofemr w3 wisgt § 88 d9d Yu3
Ofimr @ fegarg w39 18 I <&
0o U3T a3 |

(A) 26
(B) 62
(c) 71
(D) 53
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Q46 The given figure represents data Q46 ﬁﬁmmmw
W TI0EE 1HI FITIIT I3 §
€907 It J| kg wigst 03 3 0d
U 3 fan &H &8 Ffenr 7T I7?

obtained from a grouped frequency
distribution giving test scores of

examinees. What is this figure most

precisely known as?

45
40 A
35
530-
25 -
20 4
15 4
10
5

Frequen

Test Scores

=
445 5

(A)
(B)
©)
(D)

T T T T T g

45 645 745 845 945 1045
Scores

Cumulative frequency curve
Line graph
Box Plot

Frequency Polygon

45 -
40
35

y
w
o
1

25
20
15 +
10 +

5 -

Frequenc

Test Scores

0

(A)

(B)
(C)
(D)

i

T T T ¥ T b
445 545 645 745 845 945 1045
Scores

ogs gIgg3" ECC]
(Cumulative frequency curve)

34" Y (Line graph)

3y fg39 (Box Plot)

gJg9g3" HI3d  (Frequency

Polygon)

Q47 When a plot is sold for 218,700, the Q47 < g uge § 218,700 ‘3 o

owner loses 15%. At what price

must that plot be sold in order to

gain 20%?

. (A)  %20,400
(B) 16,400
(C) 26,400
(D) 28,400

A 3, 3° HBd § 15% Ia It I
20% B8 Yu3 3% B8 Gud feg fan
He €3 2ge grdier 017

(A)  %20,400

(B) ¥16,400

(c) 26,400

(D) ¥ 28,400

e e e .

PAPER-4 SERIES-DD
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Q48

Q49

Q50

3

By selling a table at X 2600, a Q48 ff A & ¥ 2600 T 2 3, g
TIGEY 30% T B'F IHEE JI 30%
& I& yBs sE Qud AW § fau
3 '3 fger grdier 017

shopkeeper makes a profit of 30%.
At what price should he sell the

table so as to make a loss of 30%?

(A) %2000
(B) 21400
(C) 22100
(D) 21600

How much time will it take for a (49

sum of T 1000 to give X 250 as

interest at 25% simple interest per

annum?

(A) 2years
(B) 3 years
(C) 1year

(D) 6 months

A and B can complete a work in 20 Q50

days, B and C can complete the
work in 10 days, and C and A can
do the same work in 12 days. Find
the time taken to complete the work,

if all three work together.
(A) 8days

(B) 6 days

(C) 30/7 days

(D) 60/7 days

PAPER-4 SERIES-DD

(A)
(B)
(C)
(D)

¥ 2000
% 1L00
% 2100

21600

% 1000 € @ I '3 Y3 078 25%
nogs fawd '3 fonra 21 2 250 g6

&9 fdar 0H SJar?
(A) 208

(B) 308

(C) 10

(D) 6 WIS

A W3 B i dH § 20 fea' &9 yar
a3 09e I5, B w3 C B0 a1 § 10
foat f<9 YT 99 0a< I, W3 C w3
A B0 &H & 12 o' @9 a3 nae Jal
A 03 36 feds fig & &n a8 Is,
EUC RIS UCER EERTINIR RCRICY

a3l
(A)
(B)
(C)
(D)

8 fes
6 foo
30/7 fe
60/7 &

[18]



Q51 A bank offered a unique loan to Q51 ffg S & wZ & 10 1% BE fix

Q52

Abhay of 10 years, wherein the rate
of interest for the first 2 years is 8%,
that for the next 5 years is 12%, and
that for beyond 7 years is 15%. If
the amount that Abhay paid back to
the bank was 21,887,850 in total,

then the amount that he received as

loan was:

(A) 95,000
(B) 85,000
(C) 284,560
(D) 293,000

The given figure represents‘ data
obtained from a grouped frequency
distribution giving test scores of
examinees. Estimate the median

score of the distribution.

Test Scores
45 -

40 +
35 4
2 30 A
S 254
g 20 4
L 15 A
10 A
5 -
0 L 1 ¥ 1 1 i 3
445 545 645 745 845 945 1045
Scores
(A) 745
(B) 79.5
(C) 80.75 ;
(D) 82.25

PAPER-4 SERIES-DD

Q52

Y

Frequenc

45 -
40

w w
[ &)
-

25
20
15 +
10 4
5

0

fedus & © Jman i3, fAoe &g
Ufag® 2 08" & ford €9 8%, WIS
5078 Bg 12% W3 BT gMiE 7 0%
Be 15% J| Aad g 8 59 § Tl
3A13E I3 I8 I8 IIH ¥1,87,850
0f, 3F €0 & 85 © 39 ‘3 yuz I&

JIH ol

(A)  %95,000

(B) ¥ 85,000

(C) Z8u,560

(D) %93,000

St et wirfg3t ifemrg e ifemr
wa TI0EE 0HI S99I3 €3 §

TI0T It J| I T WSHEI Hitar
WS U3T 33|

Test Scores

¥ 1 »

ki ¥ i 1
445 545 645 745 845 945 1045

Scores
(A) 745
(B) 79.5
(C) 80.75
(D) 82.25



Q53L

Q54

What fraction is the shaded region?

@l &1 ™
-y 1/

@) 2
B) 2
i <
D) =

Ram works 20 hours in a week

(Monday to Friday). Last week he

worked % hours on Monday,
3 hours on Tuesday, -1—5 hours on

Wednesday, and % hours on

Thursday. How many hours did he

work on Friday?
A)  —
B) —
© -

O -

PAPER-4 SERIES-DD

Q53

Q54

Srffys 939 @ B fd 37

(A)

Al

(B)

(C)

(D)

®|w

IH i Ig3 (IHe'S 3 Hagea) K9
20 W& o1 gger JI fusd I3, 80
fHes § — W, Wasea § 3 e,
=7 Qus Fomwd § RS W d
qi3m?

(A)
(B) —
(c) =

(D) —



Q55 A and B together have % 2,310. Q55 A w3 B fedfonma® 22,310 I&1 A A

Q56

4 2

If 15 of A's amount is equal to 5 of

B's amount, then how much amount

does B have?

(A) 2824
(B) 2462
(C) 924
(D) 2624

SECTION - 3 : Mental Ability and

Logical Reasoning

In this question, three statements
have been given followed by two
conclusions numbered I and II.
Assuming that all information in the
statement is true, analyse the two
conclusions together and determine
whether any of them logically and
definitely  follow(s) from. the
information given in the statement.
Statement I : All fruits are good.
Statement II : All good is bad.
Statement III : All bad are
vegetables.

Conclusion:

< 1) All bad are fruits.

II)  Some vegetables are good
(A) Only I follows

(B)  Only II follows

(C) BothIand II follows

(D)  Neither I nor II follows

PAPER-4 SERIES-DD

o 9 T ';5, B T gl © g e
g999d J, 37 B I fdat It 972

(A) 282

(B) %L62

(C) Z92u

(D) RTe2u

I9T - 3 : H&TAT War3™ w3 399 War3™

Q56 fon yms 9, 36 aua' 3 s ©

fie oftmr | w3 Ofemr 1| iE3 I I3

et &g &3t oat Al § 09

Hee I8, o< fiifewn e fedfonwm

ferdne a9 w3 fogufas a9 fa o=

&9 fagz fic g fg &3t It

Aredrdl T 39 0913 W3 ferafes 39

I YBE gIer J|

IES | : 09 2B, Tt I

FES Il : 09T 99T, 597 I

85 Il : 09 €9, 0 SAMTES|

fie

) 09 &9, & Ia!

)  I9 0EAMPEIITES

(A) s filer | uses ager I

(B) aes fieruse agerd

(c) TR IV IUIBe IIe IS

(D) & 3 fier | &dt I UgE gIer
39
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Q57 Select the number that will come Q57 €o Ofimr & 9 3, 7 Jat &3 Bt

next in the following series. Rouyat g () ‘3 wdtl
34,18,10,6,4, 34,18,10, 6,4,

(A) 0 (A) O

B) 1 | (B) 1

© 2 (c) 2

oy 3 (D) 3

Q58 Select the number that can replace Q58 €9 Ofimr g 7 It &3t 5t <9
the question mark (?) in the prmfg?us (?) S E 0|

following series.

6,10, 19, 35, 60, ?
b6, 10,19, 35, 60, ?

. (A) 85
5 o 8) 92
© % ©) 96
D) 97 | () 97

13

s e e T T L A e S S SV

PAPER-4 SERIES-DD [22]




Q59 Study the given diagram carefully Q59 f&3 3@ Ifagrw T fiwsysea
Wil 33 w3 U I8 Yis © €339

and answer the question that

follows.

Dancers

Married Educated

What is the number of educated

married dancers?

(A) 9

(B) 11
C) 12
(D) 20

Q60 Arrange the following words in a Q60
meaningful sequence and . then

choose the most appropriate

sequence.
L. Preparation for match
2 Receive the trophy
3, Toss
. 4 Win
5 Compete

(A) 1,3,5,4,2
B) 3,1,4,5,2
(C) 3,1,5,4,2
. (D) 1,5,2,4,3

PAPER-4 SERIES-DD

e8I

Dancers

20

Married Educated

uz-f8e  fewd 30T (educated
married dancers) St 0t fISH 32

(A)
(B)
(C)
(D)

9
1
12
20

Jat i3 Heet § 8 woads 393"
&g feenfas a3 W3 39 039 3 ga<t

333" gel

1. Ao s nrdt
2. I Y3 TIoT
3. 21

L, fAzE

5. HIES IS
(A) 1,3,5 4,2

(B) 3,1,L,5,2

(C) 3,1,5 4,2

(D) 1,5,2, 4,3



Q61 If the digits in the number Q61 Hagd OfeMr '649573281" © wal &

'649573281' are arranged in
ascending order, then how many

digits remain in the same placé?

(A) One
(B) Two
(C) Three
(D) Four

oe oy o feenfgz &3 famr 37
f&d& nig wyg 80 08 ‘3 Ifg=di?

(A) faq
(B) ©

(c) fIs
(D) 94

Q62 Which of the following answer Q62 dJI&" ffmmfed faodt €39 wigst,

figure completes the series of the

question figure?

+0AX||X+O0A||AX+0||OAX+ ?

X O A +
(A)
+ 0 A X
(B)
A+ OX
‘ (S
+ A X O
(D)

PAPER-4 SERIES-DD

yrs wig3t ©F 33t § ydt s9et 97

+0AX||X+O0A||AX+0||OAX+ 1

XO A +

(A)

+0O A X

(B)

At+QOX

(C)

+AXO

(D)




replace the question mark (?) in the
series given in the problem figure.

Problem Fig.

FIENEI 2R

A B C D E

Answer Fig.

VAR IR

1 2 3 4
A) 1
B) 2
C) 3
(D) 4

Q64 Select the answer figure that can

replace the question mark (?) in the
series given in the problem figure.

Problem Fig.

Q63  Select the answer figure that can Q63 €9 €39 39 gé A IJa a3 oHfunr

fiza o R ot @ yiis s (2) &
g 3 0a|
Problem Fig.
IENEIN2E
A B C D E

Answer Fig.

VAR IR

1 2 3 4
(A) 1
(B) 2
(c) 3
(D) &

Q64 €3 €39 fig3g gE = I &3 nHflnr

foza fe &3t &3t @ yms fds (7) €t
g & 0d|

Problem Fig.

| || |

Answer Fi

| | R | e

)

1 2 3 s
VNI

(B) 2

<€ 3

(D) 4

PAPER-4 SERIES-DD

W2 [ =]

Answer Fig,.

Y | AR | R |

1 2 3 4
(A) 1
(B) 2
(c) 3
(D) &
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Q65  Select the option that can replace the (65 Qaféa‘gz.rgéﬁnergﬁda(?)é’raf
& paer I w3 31 fo3a 3t § uar
9 D I

question mark (?) and complete the

given figure series.

DS

(A)

(B)

©

(D)
PAPER-4 SERIES-DD

X
g
£
X

D

(A)

(B)

(C)

K @ & @%

(D)



Q66 Which letter will replace the Q66 ﬁg}a@aﬁﬁg%ﬁ?(?)éw
3 fITF g wredr?

ETRTR]. FICIEY (BTl BIED
(A) D

(B) E

(C) F

(D) G

Q67

Q68

A3

question mark (?) in the given

series?

(A) D
(B) E
© F
D) G

Which letter will replace the Q67 3t et B3t g YHS fB?f (?) S g

question mark (?) in the given

series? C,, D, P, E, ?

(A) U
B) V
€ X
D) Y

‘3 fgga wag wredr?
C,1,D,PE?

(A) U

(B) V

(c) X

(D) Y

Select the number that can replace Q68 €n Oftmr € O a9, 7 J& &3t BT

the question mark (?) in the

following series.

1, 4,9,16,25,7

(A) 36
B) 35
(C) 30
(D) 26

&g yms fds (?) T 5 3 wr 05t I

1, 4;9;16, 25, 7

(A) 36
(B) 35
() 30
(D) 26

C———————————————————————— S S

PAPER-4 SERIES-DD
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Q69 A and B start from same point. A (369 A w3 B £ i 3 Io= HI T I&|

Q70

%

As

walks 30 m South then turns west
and walks 40 m, then turns to his
left and walks 50 m. At the same
time, B walks 80 m South. Where is
B now with respect to the position

of A?

(A) B is 40 m to the West of A.
(B) B is 50 m to the East of A.
(C) Bis 30 m tothe West of A.
(D) B is 40 m to the East of'A.

Three different positions of the
same dice are shown below. Which
of the

following statements is

necessarily true?

PGP 6

(A) # and @ are on adjacent
faces. |

(B) % and * are on opposite
faces.

(C) % and & are on opposite
faces.

(D) & and $ are on adjacent
faces.

PAPER-4 SERIES-DD

Q70

A THE 5 30 m TBT J fag UeH 28
HT 3 L0 m TBT' I, fag G Wy ¥
HIT I W3 50 m BT J| 60 0, B
THE B 80 m IBT J| AT nfESt @
0'Tgs &9 B g fag J7

(A) B, ACUSHTZ 4O m J|

(B) B, ATYITIH 50 m Il

(C) B, ACUSHTZ 30 mJ|

(D) B, AT YITTH LO m I

Jot ffg I ud S S y-2H
0 fagnrofeseee s | 95" 83
Fu&t &9 fgggr wgdt 39 '3 0t 97

# W3 @ B4R 28 IS

(A)
(B) % W3 » 30t 234 I&|
(C) % w3 & featt eod TS|

(D) & WMW3 $ JBTIR 2B IS |



Q71

Q72

Q73

A3

Find the missing term in the Q7]

following letter series:
bc b cc bc b

(A) Cbbc
(B) Bceeb
(C) Bbcc
(D) Ccbb

Sashi and Sakshi are a couple. (72
Sakshi's sister Sunita is married to
Akash and is the daughter-in-law of
Hema, the mother of Sashi. How is

Hema related to Sakshi?

(A) Sister

(B)  Mother-in-law
(C)  Daughter-in-law
(D) Daughter

Study the following arrangement (73
carefully and answer the question
given below: '

‘P x Q* means ‘P is the sister of Q’

‘P - Q’ means ‘P is the mother of Q’

‘P + Q’ means ‘P is the brother of

Q’

‘P + Q° means ‘P is the son of Q’
Which of the following means 'S is

the husband of J'?

(A) IxD-A+S
B) J-D+AXxS
(C) J-D+A=+S
(D) J+=DxA+S

3
bc_b__cc__bc_b
(A)  Cbbc

(B) Bccb

(C) Bbcc

(D)  Ccbb

0F w3 Faa fix fenrgst A I
Taar o 3T 033 T fenrg waH
&% Jfowr I3 QT oA & o, Inr &
&9 I Inr T 0IH oS & fan 3T I?

(A) 3T

(B) OO

(c) &9

(D) o

&3t I8t 393t T s &% wiftmls
a3 w3 &' i3 yis T €33 fe6:

‘PxQ E©WIEI P, QI IET
‘P-QEwWIEI P, QT HI I
‘P+Q E©WIHIP,QEITI
‘P:Q E©WIHIP,QE YT I
Jo ffafed faner wag I 's, J &
ust J'?

(A) JxD-A+S

(B) J-D:AxS

(C) J-D+A=S

(D) J+DxA+S

ﬁ

PAPER-4 SERIES-DD
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Q74‘ In this question, a statement has 74

been given followed by two
conclusions numbered 1 and IIL
Assuming that all information in the
statements are true, analyse the two
conclusions together and determine
whether any of them logically and
definitely  follow(s) from the

information given in the statements.

. Statement: All sharks are fish. No

fish is a whale.

Conclusion :

I: No whale is a shark.
I1:  All sharks are whales.
(A) Only I follows

(B)  Only II follows

(C) BothTIand II follows
(D)  Neither I nor II follows

Q75 Find the missing term in the 75

following letter series:

LKJ,  ,DCB,ZYX
. (A) HGF

(B) IHG

(C) GHI

(D) GFE

3

fon yie f9, s aae 3 gmie 2 i
Ofemr | w3 O 1| 83 I8 Ia| IES
&g &3t ot Frearat § 09 Haw I8,
o2 fifenwer frefowtendne a9 w3
fooofas a9 fa v< f&7 fagz fier
g feg &3t It Aeddt € 394
033 W3 forfgz 39 ‘3 Use dager
3

IJES: 0TI, HeMIs| agt <F
Hel, 25 odt Il

fiier:

;I8 & WY, I & I

Ih: OGO, /G IS

(A) a=sfier | use dae J
(B) I fiier Il UsE Iaer I
(c) T2 I3 IUse 98 Is

(D) & 3 fier | & I User I
9

Jat i3 wiyg BT €9 JU3 UT U3"
3

LKJ, _____, DCB, ZYX

(A) HGF

(B) IHG

(C) GHI

(D) GFE

_———ﬁ
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SECTION-4 : Language Skills (Punjabi/ English) / 3791-4 : 7€ @ g&d (A= wiardw)

Q76 Choose the correct option which can substitute the highlighted words.

Q77

Aamir Khan’s movie, ‘Lagaan’, was a true representation of a system of one
country ruling other countries. The film showcased how the English increased

their influence over the Indians over a period of time.

(A) Internationalism

(B) Communism

(C) Imperialism

(D) Communalism

Read the following sentence and identify the part that has an error.

A lot of people / in my country /prefers / tea to coffee.

(A) Alotof people

(B) in my country

(C) prefers

(D) teato coffee

R S ]
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Q78 fotit mee T 0t WS wasre &t 37

(A) Personnel

(B) Personal

(C)  Personel

+ (D) Persona

Q79 Select the most appropriate SYNONYM of the given word.

SIGNIFICANT

(A) energetic

(B) important

(C)  lustful

(D)  static

%
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Q80  Given here are six parts of a sentence. S1 and S6 are the first and the last part,
respectively. The rest of the parts, namely a, b, ¢ and d are jumbled. Select the

option that gives their correct order.
S1: Shakespeare is known as

a. to a black lady

b. and his friend;

c. the bard of avon;

d. his sonnets are addressed

S6: whose source is still unknown to many.

(A)  dcab
" (B) abed
(C) dbca
(D)  becad

Read the following passage carefully and answer the given questions from Q 81 to
Q85

For four days, I walked through the narrow lanes of the old city, enjoying the

romance of being in a city where history still lives - in its cobblestone streets and its
people riding asses, carrying vine leaves and palm as they once did during the time of

Christ. This is Jerusalem, home to the sacred sites of Christianity, Islam and Judaism. This

%
T e e = S
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is the place that houses the church of the Holy Sepulcher, the place where Jesus was

finally laid to rest. This is also the site of Christ's crucifixion, burial and resurrection.

Built by the Roman Emperor Constantine at the site of an earlier temple to
Aphrodite, it is the most venerated Christian shrine in the world. And justifiably so. Here,
within the church, are the last five stations of the cross, the 10th station where Jesus was
stripped of his clothes, the 11th where he was nailed to the cross, the 12th where he died

on the cross, the 13th where the body >was removed from the cross, and the 14th, his tomb.

\J

For all this weighty tradition, the approach and entrance to the church is non-devout
Christian pilgrims walking, along the Via-Dolorosa -The Way of Sorrow — the first nine
stations looking clueless. Then a courtyard appears, hemmed in by other buildings and a

way doorway to one side. This leads to a vast area of huge stone architectures.

Immediately inside the entrance is your first stop. It's the stone anointing: this is the
place, according to Greek tradition, where Christ was removed from the cross. The Roman
Catholics, however, believe it to be the spot where Jesus' body was prepared for burial by

Joseph.

What happened next? Jesus was buried. He was taken to a place outside the city of
Jerusalem where other graves existed and there, he was buried in a cave. However, all that
is long gone, destroyed by continued attacks and rebuilding; what remain is the massive -
and ‘impressive - Rotunda (a round building with a dome) that Emperor Constantine built.

Under this, and right in the centre of the Rotunda, is the structure that contains the Holy

Sepulcher.

4
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At the start of the first century, the place was a disused quarry outside the city
walls. According to the gospels, Jesus' crucifixion occurred at a place outside the city
walls with graves nearby...'. Archaeologists have discovered tombs from that era, so the
site is compatible with the biblical period. The structure at the site is a marble tomb built
over the original burial chamber. It has two rooms, and you enter four at a time into the
first of these, the Chapel of the Angel. Here the angel is supposed to have sat on a stone to
recount Christ's resurrection. A low door made of white marble, partly worn away by
pilgtims' hands, leads to a smaller chamber inside. This is the 'room of the tomb', the place
where Jesus was buried. We entered in single file. On my right was a large marble slab

that covered the original rock bench on which the body of Jesus was laid.

Q81" According to Roman Catholics who buried Jesus Christ?

(A) Peter

(B) Mathew
. (C) Thomas

(D)  Joseph

PAPER-4 SERIES-DD [35]



Q82__ Why did the pilgrims enter in a 'single file' in the 'Room of Tomb'?
(A)  There was a large marble slab
(B) It was the original burial chamber
(C)  The room was very sma'll

(D)  To pray personally

Q83  Who built the Holy Sepulcher?
" (A)  Julius Caesar
(B) Constantine
(C) Aphrodite

(D)  Jesus Christ

Q84 Find the word in the passage which means 'rebirth'.
(A)  Crucifixion |
(B) Hemmed
(C) Massive

(D)  Resurrection
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Q85 Which structure has sustained even after continual attacks?
(A)  Chapel of Angel
(B) Room of Tomb
(C) Rotunda

(D)  Dolorosa

Q86 fad © 89 fi3Tg gs Wa-8d e &% D=3 HI<d ge|
(A) [ U g3er
CYEREECICACE R R Y

(C) EB&OHEE

(D) O0D90aE
Q87 Hgidt_ gt )jd'qc“; & HIHS 3
| (A) TTE
(B) o
(C) 39
(D) faudt

PAPER-4 SERIES-DD 137
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Q88

Q89

Q90

‘Mention’ FEE T 0JT UrAr= waae of J7

(A) €3

(B) TIT

(C) ITBUE

(D) <363

Jo fefmmfes Ho A=< ge|
(A) U33

(B) u3<e

(C) fs3

(D) uiB3

T 99 § Hoer IR B8 fod HeEE gEl

(A)  wof3a
(B) &0f3x
(c) feges
(D) dd

«
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JsfE3geB e ssud w3 Y913y 9s3a e g3a el

UAEET 03 3 237 oH TI-A31 J1 sfaat wis & fon aH feg g3t ngfesT st
éﬁtﬁw?ﬁeagsﬁwéﬁwuamémémém&mésém%@a
3% €8 It wuzr &3 gE 0999 99 Had © ffswmfewmefenr § feds g9 9dt I 3 fen
aH feg Urrg 05t gt 3 nidt Ji

28 03 3 3 it S0 = I, fAD T TIae /W feg < wier I g, Had,
88, Hig, Hatt wrfe ol ST USEMMRI S’ I Sfgd’ © W &8 qU, T8, IHE 3
J9 U0 =B T8RN T fgew g0 famr I 3 fon W fans e Ao 203 fog’ sus feo
J

Urrsl g 93 feg DH3 YHI3 94 A A I8, B8 g Wy 243 fia a9d &
I3 Yy 95| foHafBy3 0397 UAeR fed 03™ € Ydiee" S9eMHes:

< fes we Higer, |

Ug HIgE Hed © 55|

Q91  II3 f&S UAsE fesdyesT ot 97
(A) Hod &% HigeT |
| (B) SIaHIGE
() RfesHige

(D) 208 T NI
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Q92 A feg &fgat ws 8 st 83 I&?
(A) fanrst T fAies iy

(B) Sudiar @3Uu<Ts

(C) dHag feg gaee

(D) &I TEEDS & IHI

Q93 Umrdwer ¥y fd3T ot I?
(A) TSI T a3t
(B) &3t-=dt
(C) ¥ <At

(D) SUg T a3t

Q94 foo 09 T fagdy st I?
(A) THIES T HIES
(B) =ITiged
©(C) A= e ast

(D) A" < gI3t

—_—_—nm-- M e
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Q95 UAa=g T 03 3 imydt 20% fAne fasg *e feg < wer 3, fagdt 37

(A)

(B)

(C)

(D)

SECTIONS-5 :Digital Literacy and

yatt

IAH

ded

qYUJ

Awareness

391 - 5 : f37iles AHT3™ W3 AIgI3"

Q96 Which of the following is NOT an Q96 I fSfimmfed faga ffa wgede

output device?

(A)
(B)
< (©)
(D)

Keyboard
Projector
Monitor

Plotter

Q97 In MS Excel 2019, which of the Q97

following keystroke is used to select

the cell above in the same column?

(A)
(B)
(©)
(D)

Enter

Tab

Shift + Enter

Shift + Tab

fgefen &dt 37
(A) 93
(B) Ynded
(C) AdeI
(D) uded

MS Excel 2019 f&g, d&" fefawnfes

fagz dt-0e3d © 233 i aay &9
gua® 0% & 08dc 5J6 B it
A 37

(A)  Enter

(B) Tab

(C)  Shift + Enter

(D)  Shift + Tab

D S S et
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Q98 Which of the following is correct Q98 It fEfammfed fagar dfu@ca &8
‘ ane W3 fesesans © 08y <o
odt 32

regarding text mode interaction with

computer?
L. Cumbersome
II. Time consuming

III.  Limited in scope of operation
(A) TandlII

(B) ITandIII

(C) TandlIII

(D) I, Il and Il

Q99 You have accidentally deleted a Q99
slide. With which shortcut key of
MS Power Point 2019 you can get it

back?

(A) Ctrl+Z

(B) Ctrl+B
© (C) Alt+Z

(D) Alt+B

(A)
(B)
(C)
(D)

Jgg0H

oo JafagfHar

Fged € Jgd 839 <9
otH3

I3l

11 w3 Il

I w3 Il

L1 w3

30T fe3eemmdt ffa 03Es fHer
f&3t 31 MS PowerPoint 2019 ®f
fggdft mgede-t &% 30T fud

eI YyU3 J9 0 I?
(A) Ctrl+Z
(B) Ctrl+B
(C) Alt+Z
(D) Alt+B
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Q100 scripting is used to create Q100

dynamic webpages.

(A)  Web
(B) Dos
(C)  Cobol
(D) VB

PAPER-4 SERIES-DD

pfquféar & =33 Ifesfia
<9 A gergE S8 d15t A JI

(A) 2F (Web)
(B8) 30 (Dos)
(C) 398 (Cobol)

(D) .=t (vB)
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Read the following instructions carefully:

35 Tad Jefest § fis 573 uF:

1. Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can
not be changed.

2. The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

3. The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as
these are printed on Test Booklet.

4. Candidate needs to show his / her Admit Card whenever
it is demanded by the Invigilator. '

5. Candidate is not allowed to leave the seat/ test center
withdut taking special permission from Invigilator or
Center Superintendent.

6. The candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over
OMR Answer Sheet to the Invigilator. )

7. Use of Pencil/Electronic/Manual Calculator is prohibited.

13

8. The

Regulations of the Recruitment Board with regard to

candidates are governed by all Rules and

their conduct in the Examination Hall. All cases of unfair

means will be dealt with as per Rules and Regulations of
i

the Recruitment Board.

9. Candidate must return OMR Answer Sheet & Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

10. The Candidates are required to submit t‘he Test
Booklet to the Invigilator after the exam.

1

11. Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

1. 939 s 8 3 I o9 feamu &9, @iieea & &g €39
Hie 3 a8 3 ynfie O &8 a8 i feasy § €39 & a5
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